Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
somenon connexit (ri) en	, 01							
Bid Opening: 02/17/2025 11	1:00 AM CST							
					Advance Con	struction Inc.	Jossart Bro	thers. Inc.
					2141 Woo		Joosart Die	
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1	nem coue	item Description	Collar	Quantity	ChitThee	\$2,090,312.17	ChitThee	\$2,123,881.92
Section 1		Clearing; complete as				φ2,090,012.17		<i><i><i>q</i><b>2</b>,1<b>2</b>0,001.7<b>2</b></i></i>
	1011	specified	Inch Diameter	14.00	\$100.00	\$1,400.00	\$31.00	\$434.00
	1011	Grubbing; complete as	inen Diameter	14.00	φ100.00	ψ1,400.00	\$51.00	\$ <b>151.00</b>
	1021	specified	Inch Diameter	14.00	\$100.00	\$1,400.00	\$31.00	\$434.00
	1021	Mobilization; complete as	inen Diameter	11.00	<i>\</i> 100.00	ψ1,100.00	φ01.00	φ101.00
	1050	specified	Lump Sum	1.00	\$72,500.00	\$72,500.00	\$125,000.00	\$125,000.00
	1000	Removing pavement;	Bump bum	1100	¢7 <b>2</b> /000100	\$7 <b>2</b> ,000,000	¢120/000100	\$120,000,000
	1100	complete as specified	Square Yards	75.00	\$10.00	\$750.00	\$7.20	\$540.00
		Removing curb and	-1			,	4 · · ·	•• ••••
		gutter; complete as						
	1110	specified	Linear Feet	2,200.00	\$5.00	\$11,000.00	\$1.05	\$2,310.00
		Removing concrete and		,		. ,		. ,
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	17,000.00	\$0.55	\$9,350.00	\$0.90	\$15,300.00
		Unclassified excavation;	-					
	1200	complete as specified	Cubic Yards	2,050.00	\$24.00	\$49,200.00	\$21.10	\$43,255.00
		Excavation special						
		(paving); complete as						
	1220	specified	Tons	305.00	\$14.00	\$4,270.00	\$0.01	\$3.05
		Sediment storage area;						
	1225	complete as specified	Lump Sum	1.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
		Dredge material; load;						
		transport; and dispose of						
		dewatered sediment;						
	1226	complete as specified	Cubic Yards	200.00	\$34.00	\$6,800.00	\$60.00	\$12,000.00
		7" concrete pavement;						
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	4,150.00	\$58.00	\$240,700.00	\$60.00	\$249,000.00
		7" concrete pavement						
		HES; with 5" CABC and						
		grading; complete as						
	1303	specified	Square Yards	265.00	\$62.00	\$16,430.00	\$64.15	\$16,999.75
	1004	Concrete pavement gaps;			** **	** **	** **	** **
	1334	complete as specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
		Crushed aggregate base						
	1240	course; complete as	Terre	E20.00	#17.40	#0.200.00	¢10.00	#E 4E0 00
	1340	specified	Tons	530.00	\$16.40	\$8,692.00	\$10.30	\$5,459.00

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	v of							
Bid Opening: 02/17/2025 1	1:00 AM CST							
* 0								
					Advance Const	ruction Inc.	Jossart Brot	hers, Inc.
					2141 Wood	ale Ave		
					Green Bay, V	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Pavement ties; complete						
	1350	as specified	Each	9.00	\$10.00	\$90.00	\$10.30	\$92.7
		Drilled dowel bars; 1";						· ·
	1352	complete as specified	Each	26.00	\$14.50	\$377.00	\$15.00	\$390.0
		Drilled dowel bars; 1 1/4";	-				¥**	
	1354	complete as specified	Each	29.00	\$16.50	\$478.50	\$17.00	\$493.0
		Adjust manholes and			, 0.00	,	,	+
		inlets; complete as						
	1360	specified	Each	35.00	\$375.00	\$13,125.00	\$550.00	\$19,250.0
		Turf restoration;				+		+)
	1370	complete as specified	Square Yards	2,700.00	\$6.75	\$18,225.00	\$8.50	\$22,950.
		Restore gravel	1	,				1 /
		driveway/apron;						
	1372	complete as specified	Square Yards	15.00	\$8.00	\$120.00	\$60.00	\$900.
		Cold weather covering	- 1		+++++	+	+++++++++++++++++++++++++++++++++++++++	47.001
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	430.00	\$0.01	\$4.30	\$0.01	\$4.
	1000	Up-charge for late season	Square Turus	100.00	φ0.01	ψ1.50	\$0.01	ψ1.
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	84.00	\$0.01	\$0.84	\$0.01	\$0.
	1070	12" radius curb with 6"	Cubic Tards	01.00	ψ0.01	\$0.0 <del>1</del>	\$0.01	φ0.
		CABC and grading;						
	1410	complete as specified	Linear Feet	255.00	\$17.00	\$4,335.00	\$16.50	\$4,207.
	1410	30" curb and gutter; 7";	Enicarrect	200.00	\$17.00	φ=,555.00	\$10.00	φ4,207.
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	35.00	\$57.00	\$1,995.00	\$57.70	\$2,019.
	1440	Sidewalk curb; complete	Linear reet	35.00	\$37.0U	\$1,995.00	\$37.7U	<i>φ</i> ∠,019.
	1460	as specified	Linear Feet	65.00	\$67.00	\$4,355.00	\$68.25	\$4,436.
	1400	as specified 4" concrete sidewalk with	Linear reet	65.00	φ07.00	\$ <del>4</del> ,335.00	<b>ф00.2</b> 5	<b>φ</b> 4,436
		3" CABC and grading;						
	1500	0 0	Courses Each	9,000,00	¢ ( 70	¢40.200.00	¢0 10	¢72 000 0
	1500	complete as specified 6" concrete sidewalk/	Square Feet	9,000.00	\$6.70	\$60,300.00	\$8.10	\$72,900.0
		driveway/ramp with 3"						
	1510	CABC and grading;	Course Fred	( 000 00	#= 0=	#40.45 00	#0 F0	#E0 (E0 (
	1510	complete as specified	Square Feet	6,900.00	\$7.05	\$48,645.00	\$8.50	\$58,650.0

Contract 25-05 - Waugoo Aver	nue Reconstruc	tion (#9504879)		Г				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o								
Someten Control (1), eng o								
Bid Opening: 02/17/2025 11:0	0 AM CST							
Biu opening. 02/17/2020 11:0								
					Advance Con	struction Inc.	Jossart Bro	thers Inc
							Jossait Dio	thers, me.
				ł – – ł		\$7.30 \$14,600.00 \$8 \$77.00 \$12,705.00 \$78 \$40.00 \$3,200.00 \$42		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price		Unit Price	Extension
Section The	item coue	6" concrete sidewalk/	COIN	Qualitity	OllitTrice	Extension	OnitTrice	Extension
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	2,000.00	\$7.30	\$14,600,00	\$8.75	\$17,500.00
	1514	6" concrete step; complete	Square reet	2,000.00	φ1.50	\$14,000.00	<i>ф</i> 0.7 <i>5</i>	\$17,500.00
	1530	as specified	Square Feet	165.00	\$77.00	\$12 705 00	\$78.75	\$12,993.75
	1000	Curb ramp detectable	Square Feet	105.00	φ/7.00	\$12,703.00	φ70.75	\$12,77 <b>3.</b> 73
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	80.00	\$40.00	\$3,200,00	\$42.00	\$3,360.00
	1010	No. 4 reinforcing rods -	oquare reer	00.00	¢10.00	<i>40,200.00</i>	φ12.00	40,000.00
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	3,150.00	\$2.00	\$6,300,00	\$2.10	\$6,615.00
	1000	Drilled No. 4 sidewalk tie	Linear reet	0,100.000	φ=100	\$0,000.00	ψ=	\$0,010.00
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	215.00	\$8.00	\$1,720.00	\$8.40	\$1,806.00
		Cold weather covering						. ,
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	1,770.00	\$0.01	\$17.70	\$0.01	\$17.70
		Cold weather covering	1					
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	1,770.00	\$0.01	\$17.70	\$0.01	\$17.70
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	28.00	\$0.01	\$0.28	\$15.75	\$441.00
		Furnish and install tree;						
	1600	complete as specified	Each	1.00	\$675.00	\$675.00	\$575.00	\$575.00
		Locate existing property		I T				
		monuments; complete as						
	1650	specified	Each	26.00	\$50.00	\$1,300.00	\$52.00	\$1,352.00
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	26.00	\$52.00	\$1,352.00	\$54.00	\$1,404.00
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	530.00	\$2.25	\$1,192.50	\$3.00	\$1,590.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitol: Oslikosli (11, City								
Bid Opening: 02/17/2025 11	100 AM CST							
bid Opennig. 02/17/2023 11	1.00 ANI C31							
					Advance Cons	struction Inc	Jossart Bro	there Inc
							JUSSAIT DIC	differs, file.
					2141 Woo			
				0	Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Sawing concrete						
		pavement full depth;						
	1710	complete as specified	Linear Feet	105.00	\$2.50	\$262.50	\$6.00	\$630.00
		Base aggregate dense;						
		3/4"; complete as						
	1800	specified	Tons	10.00	\$17.00	\$170.00	\$82.40	\$824.00
		Base aggregate dense; 1-						
		1/4"; complete as						
	1801	specified	Tons	160.00	\$16.40	\$2,624.00	\$17.00	\$2,720.00
		Base aggregate dense; 3";						
	1802	complete as specified	Tons	260.00	\$16.40	\$4,264.00	\$17.00	\$4,420.00
		Tack coat; complete as						
	1900	specified	Gallons	60.00	\$5.20	\$312.00	\$5.35	\$321.00
		HMA Pavement LT;						
	1901	complete as specified	Tons	180.00	\$153.50	\$27,630.00	\$158.00	\$28,440.00
		HMA cold weather				-		
		paving up-charge;						
	1903	complete as specified	Tons	18.00	\$3.00	\$54.00	\$3.10	\$55.80
		4" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	30.00	\$71.96	\$2,158.80	\$79.00	\$2,370.00
	1910	2" asphaltic surface LT	Square rarus	00.00	ψ/1.50	ψ2,100.00	φ, γ.00	φ2,07 0.00
		with 6" CABC and						
		grading; complete as						
	1917	specified	Sauaro Vardo	50.00	\$43.75	\$2,187.50	\$50.00	\$2,500.00
	1917	Asphaltic cold weather	Square Yards	50.00	\$ <del>4</del> 5.75	\$2,107.30	\$30.00	\$2,500.00
		-						
	1019	paving up-charge;	Causana Vand-	8.00	<b>作〇 〇1</b>	¢0.00	¢1.00	#0.00
	1918	complete as specified Furnish and install 12"	Square Yards	8.00	\$0.01	\$0.08	\$1.00	\$8.00
	2002	storm sewer; complete as		220.00	#00.00	#10.000.00	<i>610.00</i>	#14 O.CO OO
	2003	specified	Linear Feet	220.00	\$90.00	\$19,800.00	\$68.00	\$14,960.00
		Furnish and install 15"						
		storm sewer; complete as	<b>.</b> . –					
	2006	specified	Linear Feet	105.00	\$95.00	\$9,975.00	\$72.00	\$7,560.00
		Furnish and install 36"						
		storm sewer; complete as						
	2024	specified	Linear Feet	720.00	\$154.00	\$110,880.00	\$155.00	\$111,600.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City o				1				
Solicitor: Oshkosh WI, City								
someteon controls (11) eng								
Bid Opening: 02/17/2025 11	1:00 AM CST							
					Advance Con	struction Inc.	Jossart Brot	hers. Inc.
					2141 Woo		Jossuit Diet	
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 29" x		2				
		45" HERCP Class V storm						
		sewer; complete as						
	2052	specified	Linear Feet	270.00	\$220.00	\$59,400.00	\$232.00	\$62,640.0
		Furnish and install 34" x				,,	• • • • • •	
		53" HERCP Class III						
		storm sewer; complete as						
	2053	specified	Linear Feet	160.00	\$296.00	\$47,360.00	\$415.00	\$66,400.0
		Furnish and install 34" x		1				
		53" RCP Class III apron						
		endwall with joint ties;						
	2158	complete as specified	Each	1.00	\$19,218.00	\$19,218.00	\$45,000.00	\$45,000.0
		Supply outfall end						
		section steel plate;						
	2190	complete as specified	Each	1.00	\$2,500.00	\$2,500.00	\$20,000.00	\$20,000.00
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	6.50	\$893.00	\$5,804.50	\$865.00	\$5,622.5
		Furnish and install						
		standard storm sewer						
		manhole (5' diameter);						
	2202	complete as specified	Vertical Feet	22.00	\$925.00	\$20,350.00	\$930.00	\$20,460.0
		Furnish and install						
		standard storm sewer						
	2202	manhole (6' diameter);	Vartical Fact	9.00	\$1,508.00	\$13,572.00	\$1,420.00	\$12,780.0
	2203	complete as specified Furnish and install	Vertical Feet	9.00	\$1,508.00	\$13,572.00	\$1,420.00	\$12,780.0
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	14.00	\$2,830.00	\$39,620.00	\$2,450.00	\$34,300.0
	2203	Furnish and install Type 1	, crucari cet	14.00	φ2,030.00	φ07,020.00	φ2,τ50.00	ψ54,500.0
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$3,052.00	\$3,052.00	\$3,500.00	\$3,500.0
		Furnish and install Type 3			<i>40,00</i>	40,002100	+=,=00100	<i><i><i>43700010</i></i></i>
		inlet (with 18" sump);						
	2237	complete as specified	Each	12.00	\$3,091.00	\$37,092.00	\$3,100.00	\$37,200.0
		Furnish and install 6"				. ,	. ,	. ,
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	1,000.00	\$60.00	\$60,000.00	\$70.00	\$70,000.0

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)		Г				
Owner: Oshkosh WI, City o				ł ł				
Solicitor: Oshkosh WI, City								
solicitori esilitosi (11) erty								
Bid Opening: 02/17/2025 11	1:00 AM CST							
bia opening. 02/17/2025 11								
					Advance Con	struction Inc	Jossart Bro	thers Inc
				+ +	2141 Woo		Jossart Die	difers, file.
				+ +	Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The	Item Code	Furnish and install storm	COIN	Qualitity	Olitti Tite	Extension	ChitThe	Extension
		sewer marker balls;						
	2404	complete as specified	Each	62.00	\$30.00	\$1,860.00	\$30.00	\$1,860.00
	2404	Furnish and install storm	Each	62.00	\$30.00	\$1,000.00	\$30.00	\$1,000.00
		sewer clay dams;						
	2406	complete as specified	Each	31.00	\$300.00	\$9,300.00	\$50.00	\$1,550.00
	2400	Furnish and install storm	Edell	51.00	\$300.00	\$7,500.00	\$30.00	\$1,550.00
		sewer lateral inlet;						
	2408	complete as specified	Each	29.00	\$1,170.00	\$33,930.00	\$1,200.00	\$34,800.00
	2400	Storm lateral inlet	EdCI	29.00	\$1,170.00	\$33,730.00	\$1,200.00	\$54,000.00
		adjustments; complete as						
	2414	specified	Each	10.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00
	2414	Furnish; install; maintain;	Each	10.00	\$100.00	\$1,000.00	\$100.00	\$1,000.00
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	35.00	\$75.00	\$2,625.00	\$83.00	\$2,905.00
	2000	Sediment removal - Type	Euch	00.00	φ/ 0.00	φ2,020.00	400.00	φ2,900.00
		D modified inlet						
		protection; complete as						
	2510	specified	Each	35.00	\$10.00	\$350.00	\$1.05	\$36.75
	2010	Furnish; install; maintain;	Buch	00.00	<b>\$10.00</b>	\$555.55	φ1.00	\$00H 0
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	1.00	\$1,200.00	\$1,200.00	\$500.00	\$500.00
		Furnish; install; maintain;			+-)	+-)=	+	
		and remove stone bag;						
	2516	complete as specified	Each	50.00	\$11.00	\$550.00	\$10.50	\$525.00
		Furnish; install; maintain;			+		+	
		and remove 12" diameter						
		sediment logs; complete						
	2518	as specified	Linear Feet	80.00	\$6.10	\$488.00	\$7.30	\$584.00
		Furnish; install; maintain;						
		and remove dewatering						
		tank system; complete as						
	2524	specified	Each	2.00	\$2,000.00	\$4,000.00	\$0.01	\$0.02
		Furnish; install; maintain;			. ,	. ,		
		and remove turbidity						
		barrier; complete as						
	2526	specified	Each	1.00	\$6,000.00	\$6,000.00	\$5,500.00	\$5,500.00

Contract 25-05 - Waugoo Ave	enue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City of	-							
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli Wi, City								
Bid Opening: 02/17/2025 11:	DO AM CET							
bid Opening: 02/17/2025 11:	JU AM C51							
					A 1 C	at assetting a Taxa	To an at Due	the second second
	_				Advance Con		Jossart Bro	thers, Inc.
					2141 Woo			
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install Class						
		I; Urban; Type A erosion						
		control mat; complete as						
	2632	specified	Square Yards	150.00	\$1.50	\$225.00	\$1.80	\$270.0
		Furnish and install heavy						
		rip-rap with filter fabric;						
	2650	complete as specified	Square Yards	50.00	\$80.00	\$4,000.00	\$85.00	\$4,250.0
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	65.00	\$10.00	\$650.00	\$10.00	\$650.0
		Abandon 15" and larger						
		storm sewer; complete as						
	2802	specified	Linear Feet	980.00	\$10.00	\$9,800.00	\$20.00	\$19,600.0
		Remove 30" and smaller						
		storm sewer; complete as						
	2804	specified	Linear Feet	150.00	\$40.00	\$6,000.00	\$25.00	\$3,750.00
		Remove 33" - 60" storm						
		sewer; complete as						
	2806	specified	Linear Feet	30.00	\$45.00	\$1,350.00	\$50.00	\$1,500.0
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	4.00	\$400.00	\$1,600.00	\$500.00	\$2,000.0
		Remove storm sewer						
		manholes and inlets;						
	2812	complete as specified	Each	7.00	\$500.00	\$3,500.00	\$500.00	\$3,500.0
		Connect to existing storm						· · · · ·
		sewer main; complete as						
	2850	specified	Each	4.00	\$500.00	\$2,000.00	\$1,200.00	\$4,800.00
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	3.00	\$175.00	\$525.00	\$200.00	\$600.00
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	1.00	\$600.00	\$600.00	\$2,000.00	\$2,000.00
		Connect to existing storm	-					. ,
		sewer inlet; complete as						
	2858	specified	Each	1.00	\$400.00	\$400.00	\$500.00	\$500.0
		Storm sewer utility line		1.00	¢ 100.00	\$ 100.00	\$200.00	4000.00
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$750.00	\$3,750.00	\$750.00	\$3,750.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
solicitol. Oslikosli (11, city								
Bid Opening: 02/17/2025 11	OD AM CET							
bid Opening: 02/1//2025 11	:00 AM C51							
					4.1 0			(1 T
					Advance Con		Jossart Bro	thers, Inc.
					2141 Woo			
					Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Excavation special						
		(storm); complete as						
	2950	specified	Tons	150.00	\$14.00	\$2,100.00	\$0.01	\$1.5
		Bentonite slurry dam						
		(storm); complete as						
	2952	specified	Each	2.00	\$1,500.00	\$3,000.00	\$100.00	\$200.0
	1	Furnish and install 8"						
	1	sanitary sewer (relay);						
	3000	complete as specified	Linear Feet	835.00	\$134.00	\$111,890.00	\$108.00	\$90,180.0
		Furnish and install 12"			+	+,0,000		47 0/20000
		sanitary sewer (relay);						
	3004	complete as specified	Linear Feet	270.00	\$167.00	\$45,090.00	\$120.00	\$32,400.0
	5004	Furnish and install	Effective	270.00	\$107.00	\$ <del>4</del> 0,090.00	\$120.00	\$3 <b>2,<del>1</del>00.0</b>
		standard sanitary sewer						
		manhole (4' diameter);						
	2100		Maulia I Faal	46.00	¢400.00	¢22.054.00	¢= 4= 00	¢0 = 070 0
	3100	complete as specified Furnish and install	Vertical Feet	46.00	\$499.00	\$22,954.00	\$545.00	\$25,070.00
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	6.00	\$550.00	\$3,300.00	\$575.00	\$3,450.0
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	1.00	\$450.00	\$450.00	\$475.00	\$475.0
		Furnish and install 8" x 6"						
		sanitary sewer factory						
	1	wyes or tees; complete as						
	3210	specified	Each	31.00	\$141.00	\$4,371.00	\$150.00	\$4,650.0
		Furnish and install 12" x						
	1	6" sanitary sewer factory						
		wyes or tees; complete as						
	3214	specified	Each	8.00	\$392.00	\$3,136.00	\$450.00	\$3,600.0
		Furnish and install 4"/6"	-			,	,	
	1	sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	1,400.00	\$102.00	\$142,800.00	\$92.00	\$128,800.0
	5254	Furnish and install 4"/6"	Enicul I CCI	1,100.00	ψ102.00	ψ112,000.00	ψ72.00	φ120,000.0
	1	sanitary sewer riser						
		-						
	2225	(relay); complete as	LineseFreet	50.00	¢100.00	#E 100.00	¢105.00	¢ ( <b>25</b> 0 0
	3235	specified	Linear Feet	50.00	\$102.00	\$5,100.00	\$125.00	\$6,250.0

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)		Г				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City								
sometron osimosii (11) eng	, 01							
Bid Opening: 02/17/2025 11	1.00 AM CST							
biu Opennig. 02/17/2025 1	1.00 /101 CO1							
					Advance Cons	truction Inc	Jossart Bro	there Inc
					2141 Wood		Jossan Dio	thers, me.
					Green Bay,			
Cooline Title	It and Calls	It is Description	U-OA	Owentliter			Us't Dates	Tuto a dia a
Section Title	Item Code	Item Description Furnish and install	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	76.00	\$30.00	\$2,280.00	\$30.00	\$2,280.00
		Furnish and install clay						
		dams; complete as						
	3238	specified	Each	38.00	\$300.00	\$11,400.00	\$50.00	\$1,900.0
		Furnish and install						
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	1.00	\$222.00	\$222.00	\$750.00	\$750.0
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	2.00	\$317.00	\$634.00	\$1,200.00	\$2,400.00
		Furnish and install						· · · ·
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	2.00	\$200.00	\$400.00	\$500.00	\$1,000.0
		Furnish and install 10"			+			+ -) * * * *
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	180.00	\$130.00	\$23,400.00	\$75.00	\$13,500.0
	5404	Rock excavation;	Linear reet	100.00	\$150.00	\$23,400.00	\$75.00	\$15,500.00
	3600	complete as specified	Cubic Yards	50.00	\$0.01	\$0.50	\$0.01	\$0.5
	3000	Closed circuit televising;	Cubic Tatus	50.00	.p0.01	φ <b>0.</b> 50	.p0.01	\$0.50
	3700	complete as specified	Linear Feet	1,105.00	\$1.25	\$1,381.25	\$1.60	¢1 769 0
	3700	Closed circuit televising -	Linear reet	1,105.00	\$1.23	\$1,301.23	\$1.6U	\$1,768.00
		0						
	2710	using push camera;	E . J	4.00	# <b>3</b> 50.00	¢1,000,00	¢000.00	#000 O
	3710	complete as specified	Each	4.00	\$250.00	\$1,000.00	\$200.00	\$800.00
		Abandon sanitary sewer						
	2000	manholes; complete as		2.00	A 100 22	*****	*=~~ ~~	** *** **
	3800	specified	Each	2.00	\$400.00	\$800.00	\$500.00	\$1,000.00
		Abandon 10" sanitary						
		sewer; complete as						
	3804	specified	Linear Feet	695.00	\$8.00	\$5,560.00	\$8.00	\$5,560.00
		Abandon 12" sanitary						
		sewer; complete as						
	3806	specified	Linear Feet	190.00	\$12.00	\$2,280.00	\$10.00	\$1,900.00

Contract 25-05 - Waugoo Av	enue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
solicitol. Oslikosli 111, čity								
Bid Opening: 02/17/2025 11	-00 AM CST							
biu Opening. 02/17/2025 11	.00 /101 CO1							
	-				Advance Con	struction Inc	Jossart Bro	thore Inc
							Jossan Dio	thers, nic.
				Image: second				
0 / T''	LL C 1	u D i i					T. '( D '	<b>F</b> ( )
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Remove sanitary sewer						
		manholes; complete as						
	3852	specified	Each	2.00	\$500.00	\$1,000.00	\$500.00	\$1,000.0
		Remove sanitary sewer;						
	3854	complete as specified	Linear Feet	95.00	\$46.00	\$4,370.00	\$25.00	\$2,375.0
		Sanitary sewer utility line						
		opening (ULO); complete						
	3890	as specified	Each	2.00	\$750.00	\$1,500.00	\$750.00	\$1,500.0
		Excavation special						
		(sanitary); complete as						
	3892	specified	Tons	44.00	\$14.00	\$616.00	\$0.01	\$0.44
		Bentonite slurry dam						
		(sanitary); complete as						
	3894	specified	Each	16.00	\$1,500.00	\$24,000.00	\$100.00	\$1,600.00
		Furnish and install 6"						
		ductile iron water main						
		(relay) with polywrap;						
	4002	complete as specified	Linear Feet	65.00	\$122.00	\$7,930.00	\$110.00	\$7,150.00
		Furnish and install 8"						
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	1,355.00	\$135.00	\$182,925.00	\$124.00	\$168,020.0
		Furnish and install 1"						
		water service (relay);						
	4036	complete as specified	Linear Feet	1,350.00	\$68.00	\$91,800.00	\$79.00	\$106,650.0
		Furnish and install 1"						
		corporation and stop box;						
	4048	complete as specified	Each	37.00	\$609.00	\$22,533.00	\$500.00	\$18,500.00
		Furnish and install water						
		service clay dams;						
	4055	complete as specified	Each	37.00	\$300.00	\$11,100.00	\$50.00	\$1,850.00
		Furnish and install						
		connections to existing 8"						
		water main; complete as						
	4060	specified	Each	3.00	\$2,399.00	\$7,197.00	\$2,000.00	\$6,000.00
		Furnish and install 8" x 6"						
		water main tee; complete						
	4110	as specified	Each	3.00	\$736.00	\$2,208.00	\$775.00	\$2,325.00
		Furnish and install 8" x 8"						
		water main tee; complete						
	4111	as specified	Each	1.00	\$836.00	\$836.00	\$885.00	\$885.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli VI, City	, 01							
Bid Opening: 02/17/2025 11	100 AM CET							
Bid Opening: 02/17/2025 11	1:00 AWI C51							
							I (D	-1 T
							Jossart Bro	thers, Inc.
					1.00 \$439.00   6.00 \$324.00   6.00 \$324.00   6.00 \$443.00   1.00 \$197.00   1.00 \$197.00   2.00 \$1,313.00   2.00 \$1,668.00   2.00 \$1,912.00   3.00 \$2,694.00   3.00 \$2,694.00   180.00 \$28.00   180.00 \$20.00   \$55.00 \$30.00			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 8" 22-						
		1/2 degree water main						
		bend; complete as						
	4228	specified	Each	1.00	\$439.00	\$439.00	\$460.00	\$460.0
		Furnish and install 6" 45						
		degree water main bend;						
	4236	complete as specified	Each	6.00	\$324.00	\$1,944.00	\$350.00	\$2,100.00
		Furnish and install 8" 45						
		degree water main bend;						
	4237	complete as specified	Each	6.00	\$443.00	\$2,658.00	\$475.00	\$2,850.00
		Furnish and install 8"						
		water main plug;						
	4309	complete as specified	Each	1.00	\$197.00	\$197.00	\$200.00	\$200.00
		Cut and cap existing 4"						
		water main; complete as						
	4350	specified	Each	2.00	\$1,313.00	\$2,626.00	\$1,000.00	\$2,000.00
		Cut and cap existing 6"						
		water main; complete as						
	4352	specified	Each	2.00	\$1,668.00	\$3,336.00	\$1,000.00	\$2,000.00
		Cut and cap existing 8"						
		water main; complete as						
	4354	specified	Each	2.00	\$2,046.00	\$4,092.00	\$1,000.00	\$2,000.00
		Furnish and install 6"			. ,			. ,
		water main gate valve;						
	4401	complete as specified	Each	3.00	\$1.912.00	\$5,736.00	\$2,150.00	\$6,450.00
		Furnish and install 8"			. ,	. ,		
		water main gate valve;						
	4402	complete as specified	Each	8.00	\$2.694.00	\$21,552.00	\$3,200.00	\$25,600.00
		Furnish and install			+_/** -:***	+==)++==1+++	+0)_00000	4_0/00000
		hydrant; complete as						
	4500	specified	Each	3.00	\$6,012,00	\$18,036.00	\$5,850.00	\$17,550.00
	1500	Furnish and install 2"	Euch	0.00	\$0,012.00	\$10,000.00	40,000.00	φ17,000.00
		water main casing pipe;						
	4712	complete as specified	Linear Feet	180.00	\$28.00	\$5,040.00	\$35.00	\$6,300.00
	1/12	Rock excavation;	Enicarrect	100.00	\$20.00	ψ5,040.00	\$55.00	φ0,000.00
	4800	complete as specified	Cubic Yards	20.00	¢0.01	\$0.20	\$0.01	\$0.20
	4000	Remove water main;	Cubic Talus	20.00	φ <b>0.0</b> 1	.p0.20		\$0.20
	4920	complete as specified	Linear Feet	55.00	¢20.00	\$1,650.00	\$25.00	\$1,375.0
	4920	Excavation special	Linear reet	55.00	\$30.00	\$1,030.00	\$23.00	\$1,3/5.0U
		(water); complete as						
	1000	· · ·	<b>T</b>	25.00	#14.00	#250.00	#0.01	#0. <b>0</b>
	4990	specified	Tons	25.00	\$14.00	\$350.00	\$0.01	\$0.2

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit				1				
,,	.,							
Bid Opening: 02/17/2025 1	1:00 AM CST							
biu opening. 02/1//2020 1								
					Advance Cons	struction Inc	Jossart Bro	there Inc
				ł – ł	2141 Woo		Jossan Die	dicis, inc.
				ł – ł	Green Bay,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The	item code	Bentonite slurry dam	COIN	Quantity	UnitTrice	Extension	Child Flice	Extension
		(water); complete as						
	4992	specified	Each	6.00	\$1,500.00	\$9,000.00	\$100.00	\$600.0
	4992	Furnish and install pull	Each	6.00	\$1,500.00	\$9,000.00	\$100.00	\$600.0
		box (steel); 18" x 36";						
	5012	complete as specified	Eash	10.00	¢1 000 00	¢10.000.00	¢1 020 00	¢10,200,0
	5012	Adjust pull box; complete	Each	10.00	\$1,000.00	\$10,000.00	\$1,030.00	\$10,300.0
	5025	as specified	Each	10.00	\$5.00	\$50.00	\$100.00	\$1,000.0
	5025	Remove concrete base;	Each	10.00	\$5.00	\$50.00	\$100.00	\$1,000.0
	5007		E. J.	1.00	¢200.00	<b>#2</b> 00.00	¢210.00	¢010.0
	5027	complete as specified Furnish and install 3"	Each	1.00	\$200.00	\$200.00	\$210.00	\$210.0
		Schedule 40 PVC;						
	5120		Liner Fred	1 250 00	¢10.00	¢12 E00 00	¢10.20	¢10.075 0
	5130	complete as specified	Linear Feet	1,250.00	\$10.00	\$12,500.00	\$10.30	\$12,875.0
		Connect to existing pull						
	5100	box; complete as	F 1	1.00	<b>#25</b> 0.00	# <b>2</b> 50.00	4055 00	* <b>255</b> 0
	5180	specified Furnish and install 6	Each	1.00	\$250.00	\$250.00	\$275.00	\$275.00
		gauge red-coated wire;		1 500 00	¢1 =0	<b>**</b> === ==	¢1 ==	40 (01 F
	5240	complete as specified Furnish and install 6	Linear Feet	1,730.00	\$1.50	\$2,595.00	\$1.55	\$2,681.5
		gauge black-coated wire;						
	5241	complete as specified	Linear Feet	1,730.00	\$1.50	\$2,595.00	\$1.55	\$2,681.5
		Furnish and install 10						
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	1,750.00	\$1.00	\$1,750.00	\$1.05	\$1,837.5
		Furnish and install 12						
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	200.00	\$0.80	\$160.00	\$0.85	\$170.00
		Furnish and install 12						
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	200.00	\$0.80	\$160.00	\$0.85	\$170.0
		Furnish and install 12						
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	200.00	\$0.80	\$160.00	\$0.85	\$170.00
		Furnish and install fuse						
		holder; complete as	_					
	5380	specified	Each	16.00	\$55.00	\$880.00	\$60.00	\$960.00
		Furnish and install 2A						
		fuse; complete as						
	5386	specified	Each	16.00	\$5.00	\$80.00	\$5.15	\$82.40

Contract 25-05 - Waugoo Aver	ue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o	f							
Bid Opening: 02/17/2025 11:00	O AM CST							
						struction Inc.	Jossart Bro	others, Inc.
						odale Ave		
					Green Bay	Green Bay, WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Install CITY-supplied						
		pole and pole top						
		luminaire; complete as						
	5410	specified	Each	10.00	\$550.00	\$5,500.00	\$575.00	\$5,750.00
		Furnish and install Type 5						
		base; complete as						
	5504	specified	Each	8.00	\$1,075.00	\$8,600.00	\$1,125.00	\$9,000.00
Bid Total:						\$2,090,312.17		\$2,123,881.92

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)		Γ				
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
Solicitol: Oslikosli VI, Cit	y 01							
Bid Opening: 02/17/2025 12	1:00 AM CST							
biu opening. 02/1//2020 1	1.00 1101 CO 1							
					Dorne	er Inc.	Carl Bowers & Sor	is Const. Co., Inc.
					Donie	i me.	cui bowers d oor	is const. co., ne.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1						\$2,201,941.56		\$2,209,220.47
		Clearing; complete as						
	1011	specified	Inch Diameter	14.00	\$50.00	\$700.00	\$30.00	\$420.00
		Grubbing; complete as						
	1021	specified	Inch Diameter	14.00	\$50.00	\$700.00	\$30.00	\$420.00
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$152,447.00	\$152,447.00	\$60,000.00	\$60,000.00
		Removing pavement;						
	1100	complete as specified	Square Yards	75.00	\$8.10	\$607.50	\$5.00	\$375.00
		Removing curb and						
		gutter; complete as						
	1110	specified	Linear Feet	2,200.00	\$2.30	\$5,060.00	\$1.00	\$2,200.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	17,000.00	\$0.50	\$8,500.00	\$0.70	\$11,900.00
		Unclassified excavation;						
	1200	complete as specified	Cubic Yards	2,050.00	\$18.00	\$36,900.00	\$18.00	\$36,900.00
		Excavation special						
	1990	(paving); complete as	<b></b>	205.00	<b>**</b> < <b>=</b> 0	to 000 =0	to 01	<b>*</b> 2.05
	1220	specified	Tons	305.00	\$26.50	\$8,082.50	\$0.01	\$3.05
	1005	Sediment storage area;	I C	1.00	#4.106.00	#4.10C.00	# <b>=</b> 000.00	#= 000 00
	1225	complete as specified Dredge material; load;	Lump Sum	1.00	\$4,106.00	\$4,106.00	\$5,000.00	\$5,000.00
		transport; and dispose of						
	1007	dewatered sediment;	CubicNende	200.00	¢(1.00	¢12 800 00	¢100.00	# <b>2</b> 0,000,00
	1226	complete as specified 7" concrete pavement;	Cubic Yards	200.00	\$64.00	\$12,800.00	\$100.00	\$20,000.00
		with 5" CABC and						
	1201	grading; complete as	Course Vande	4 150 00	\$E0.00	¢041.04E.00	\$61.28	¢0E4 010 00
	1301	specified 7" concrete pavement	Square Yards	4,150.00	\$58.30	\$241,945.00	\$61.28	\$254,312.00
		HES; with 5" CABC and						
		grading; complete as						
	1202	specified	Square Varde	265.00	\$61.60	¢16 224 00	\$65.48	¢17 252 20
	1303	Concrete pavement gaps;	Square Yards	265.00	\$61.6U	\$16,324.00	\$65.48	\$17,352.20
	1334	complete as specified	Each	2.00	\$0.01	\$0.02	\$0.01	\$0.02
	1554	Crushed aggregate base	Edell	2.00	\$0.01	\$0.02	\$0.01	\$0.02
		course; complete as						
	1340	specified	Tons	530.00	\$17.20	\$9,116.00	\$15.00	\$7,950.00
	1340	specified	rons	530.00	\$17.20	\$9,116.00	\$15.00	\$7,950.00

Contract 25-05 - Waugoo A	venue Reconstruc	ction (#9504879)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit								
,								
Bid Opening: 02/17/2025 1	1:00 AM CST							
1 0								
					Dorne	r Inc.	Carl Bowers & Sor	is Const. Co., Inc.
								·
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Pavement ties; complete						
	1350	as specified	Each	9.00	\$10.00	\$90.00	\$10.50	\$94.5
		Drilled dowel bars; 1";						
	1352	complete as specified	Each	26.00	\$15.00	\$390.00	\$15.22	\$395.7
		Drilled dowel bars; 1 1/4";						
	1354	complete as specified	Each	29.00	\$17.00	\$493.00	\$17.33	\$502.5
		Adjust manholes and						
		inlets; complete as						
	1360	specified	Each	35.00	\$386.00	\$13,510.00	\$400.00	\$14,000.0
	1000	Turf restoration;	Euch	00.00	4000100	\$10,010,00	\$100100	¢11,00010
	1370	complete as specified	Square Yards	2,700.00	\$9.30	\$25,110.00	\$10.00	\$27,000.0
	1570	Restore gravel	Square Tatus	2,700.00	\$9.50	\$25,110.00	\$10.00	φ27,000.0
		0						
	1050	driveway/apron;		15.00	#10.c0	<b>#201.00</b>	<b>#50.00</b>	# <b>7</b> 50.0
	1372	complete as specified Cold weather covering	Square Yards	15.00	\$19.60	\$294.00	\$50.00	\$750.0
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Square Yards	430.00	\$0.01	\$4.30	\$0.01	\$4.3
		Up-charge for late season						
		cold weather concrete						
		pavement; complete as						
	1390	specified	Cubic Yards	84.00	\$0.01	\$0.84	\$0.01	\$0.8
		12" radius curb with 6"						
		CABC and grading;						
	1410	complete as specified	Linear Feet	255.00	\$17.50	\$4,462.50	\$16.80	\$4,284.0
		30" curb and gutter; 7";						. ,
		with 5" CABC and						
		grading; complete as						
	1440	specified	Linear Feet	35.00	\$60.80	\$2,128.00	\$58.80	\$2,058.0
	1110	Sidewalk curb; complete	Lincui i cet	55.00	φ00.00	ψ2,120.00	φ50.00	ψ2,030.0
	1460	as specified	Linear Feet	65.00	\$67.00	\$4,355.00	\$69.30	\$4,504.5
	1400	4" concrete sidewalk with	Linear reet	05.00	.00 <sup>-</sup> .00	₽ <del>4</del> ,355.00	\$09.3U	\$ <b>4</b> ,50 <b>4</b> .5
		3" CABC and grading;						
	1500	0 0	Course Fast	0.000.00	#< 00	¢(1 000 00	47 F1	¢(= =00.0
	1500	complete as specified	Square Feet	9,000.00	\$6.80	\$61,200.00	\$7.51	\$67,590.0
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	6,900.00	\$7.20	\$49,680.00	\$7.88	\$54,372.0

Contract 25-05 - Waugoo Aver	ue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of	f							
Bid Opening: 02/17/2025 11:00	AMCST							
Bra Opening. 02,1772020 11.00								
					Dorne	er Inc	Carl Bowers & So	ns Const Co. Inc
					Dunk	ir me.	Cuil Dowels & Sol	is const. co., me.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/		2				
		driveway/ramp (HES)						
		with 3" CABC and						
		grading; complete as						
	1514	specified	Square Feet	2,000.00	\$7.60	\$15,200.00	\$8.14	\$16,280.00
		6" concrete step; complete	- 1	_,		+)	+01-1	4-0)-00000
	1530	as specified	Square Feet	165.00	\$77.30	\$12,754.50	\$78.75	\$12,993.75
		Curb ramp detectable	- 1			, ,		,
		warning field						
		(natural/non-painted);						
	1540	complete as specified	Square Feet	80.00	\$41.20	\$3,296.00	\$42.00	\$3,360.00
		No. 4 reinforcing rods -	1			. ,		
		deformed; epoxy-coated;						
	1550	complete as specified	Linear Feet	3,150.00	\$2.10	\$6,615.00	\$2.10	\$6,615.00
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	215.00	\$8.00	\$1,720.00	\$8.40	\$1,806.00
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	1,770.00	\$0.01	\$17.70	\$0.01	\$17.70
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	1,770.00	\$0.01	\$17.70	\$0.01	\$17.70
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	28.00	\$15.50	\$434.00	\$0.01	\$0.28
		Furnish and install tree;						
	1600	complete as specified	Each	1.00	\$750.00	\$750.00	\$750.00	\$750.00
		Locate existing property						
		monuments; complete as	_					
	1650	specified	Each	26.00	\$52.00	\$1,352.00	\$52.50	\$1,365.00
		Replace existing property						
		monuments; complete as			,		, - · · ·	<b></b>
	1652	specified	Each	26.00	\$54.00	\$1,404.00	\$54.60	\$1,419.60
		Sawing existing						
	1700	pavement; complete as		500.00	A	#001 00	to 1-	da <<0 =0
	1700	specified	Linear Feet	530.00	\$1.70	\$901.00	\$3.15	\$1,669.50

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, City				1				
				1				
Bid Opening: 02/17/2025 11	1:00 AM CST							
bia Opennig. 02/17/2025 11	1.00 Min Col							
					Dorne	The	Carl Bowers & So	na Const Co. Inc
					Donie	er me.	Carl bowers & 30	lis Colist. Co., Ilic.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The	item coue	Sawing concrete	COIM	Quantity	Chit Thee	Extension	Child Fride	Extension
		pavement full depth;						
	1710		Liner	105.00	¢4.00	¢ 420.00	¢2.47	#205.25
	1710	complete as specified	Linear Feet	105.00	\$4.00	\$420.00	\$3.67	\$385.35
		Base aggregate dense;						
		3/4"; complete as	_					
	1800	specified	Tons	10.00	\$26.40	\$264.00	\$50.00	\$500.00
		Base aggregate dense; 1-						
		1/4"; complete as						
	1801	specified	Tons	160.00	\$18.40	\$2,944.00	\$15.00	\$2,400.00
		Base aggregate dense; 3";						
	1802	complete as specified	Tons	260.00	\$18.00	\$4,680.00	\$15.00	\$3,900.00
		Tack coat; complete as						
	1900	specified	Gallons	60.00	\$5.40	\$324.00	\$5.46	\$327.60
		HMA Pavement LT;						
	1901	complete as specified	Tons	180.00	\$158.10	\$28,458.00	\$161.18	\$29,012.40
		HMA cold weather						
		paving up-charge;						
	1903	complete as specified	Tons	18.00	\$3.10	\$55.80	\$0.01	\$0.18
		4" asphaltic surface LT						
		with 6" CABC and						
		grading; complete as						
	1916	specified	Square Yards	30.00	\$77.60	\$2,328.00	\$69.89	\$2,096.70
		2" asphaltic surface LT	-					
		with 6" CABC and						
		grading; complete as						
	1917	specified	Square Yards	50.00	\$48.60	\$2,430.00	\$40.27	\$2,013.50
		Asphaltic cold weather	1			. ,		. ,
		paving up-charge;						
	1918	complete as specified	Square Yards	8.00	\$1.00	\$8.00	\$1.00	\$8.00
		Furnish and install 12"	1		+		+	40000
		storm sewer; complete as						
	2003	specified	Linear Feet	220.00	\$66.00	\$14,520.00	\$94.00	\$20,680.00
	2000	Furnish and install 15"			\$00.00	¢11,020.00	\$71.00	4_0,000.00
		storm sewer; complete as						
	2006	specified	Linear Feet	105.00	\$73.00	\$7,665.00	\$98.00	\$10,290.00
	2000	Furnish and install 36"	Lincal FCCt	105.00	φ/ 3.00	φ/,003.00	φ98.00	\$10,290.00
		storm sewer; complete as						
	2024	-	Linear Feet	720.00	\$173.00	\$124,560.00	¢10F 00	¢140.400.00
	2024	specified	Linear Feet	720.00	\$173.00	\$124,560.00	\$195.00	\$140,400.00

Contract 25-05 - Waugoo Ave	enue Reconstruc	tion (#9504879)		Г				
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City								
Solicitor: Oshitosh VII, City	01							
Bid Opening: 02/17/2025 11:	00 AM CST							
bid Opening. 02/17/2023 11.	00 AM COT							
					Dorne	or Inc	Carl Bowers & So	ne Const. Co. Inc
					Donie	a me.	Call Dowels & Sol	is colist. co., lite.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install 29" x						
		45" HERCP Class V storm						
		sewer; complete as						
	2052	specified	Linear Feet	270.00	\$234.00	\$63,180.00	\$245.00	\$66,150.00
		Furnish and install 34" x						
		53" HERCP Class III						
		storm sewer; complete as						
	2053	specified	Linear Feet	160.00	\$270.00	\$43,200.00	\$270.00	\$43,200.00
		Furnish and install 34" x						
		53" RCP Class III apron						
		endwall with joint ties;						
	2158	complete as specified	Each	1.00	\$13,463.00	\$13,463.00	\$50,000.00	\$50,000.00
		Supply outfall end						
		section steel plate;						
	2190	complete as specified	Each	1.00	\$1,113.00	\$1,113.00	\$2,000.00	\$2,000.00
		Furnish and install						
		standard storm sewer						
	2201	manhole (4' diameter);		6 = 0	#1 0 <b>50</b> 00	<b>A</b> ( <b>A</b> ( <b>A</b> )	<b>\$</b> < 0.0 0.0	<b>**</b> 000 00
	2201	complete as specified Furnish and install	Vertical Feet	6.50	\$1,072.00	\$6,968.00	\$600.00	\$3,900.00
		standard storm sewer						
	2202	manhole (5' diameter);		22.00	¢1.074.00	<b>#22 (2</b> 0 00	#0 <b>05</b> 00	¢10.150.00
	2202	complete as specified Furnish and install	Vertical Feet	22.00	\$1,074.00	\$23,628.00	\$825.00	\$18,150.00
		standard storm sewer						
	2202	manhole (6' diameter);	West's d Feel	0.00	¢1 (25 00	¢14.(05.00	¢1.050.00	¢0.450.00
	2203	complete as specified Furnish and install	Vertical Feet	9.00	\$1,625.00	\$14,625.00	\$1,050.00	\$9,450.00
		standard storm sewer						
		manhole (8' diameter);						
	2205	complete as specified	Vertical Feet	14.00	\$2,508.00	\$35,112.00	\$1,725.00	\$24,150.00
	2203	Furnish and install Type 1	vertical reet	14.00	\$2,506.00	\$33,112.00	\$1,723.00	\$24,130.00
		inlet (with 18" sump);						
	2235	complete as specified	Each	1.00	\$3,642.00	\$3,642.00	\$4,000.00	\$4,000.00
<u> </u>		Furnish and install Type 3	Luch	1.00	φ0,012.00	φ0,012.00	φ1,000.00	φ1,000.00
		inlet (with 18" sump);						
	2237	complete as specified	Each	12.00	\$2,380.00	\$28,560.00	\$3,500.00	\$42,000.00
		Furnish and install 6"		12.00	\$ <b>_</b> ,000.00	\$ <b>_</b> 0,000,000	\$0,000.00	¢ 12/000.00
		storm sewer lateral;						
	2400	complete as specified	Linear Feet	1,000.00	\$60.00	\$60,000.00	\$75.00	\$75,000.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)		Τ				
Owner: Oshkosh WI, City				1				
Solicitor: Oshkosh WI, City								
Solicitor. Oslikosli (11, eng								
Bid Opening: 02/17/2025 11	1.00 AM CST							
bia opening. 02/1//2020 11								
					Dorne	er Inc.	Carl Bowers & So	ns Const. Co., Inc.
					2 dill		cuir borrers et so	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install storm						
		sewer marker balls;						
	2404	complete as specified	Each	62.00	\$31.00	\$1,922.00	\$25.00	\$1,550.00
		Furnish and install storm						
		sewer clay dams;						
	2406	complete as specified	Each	31.00	\$128.00	\$3,968.00	\$100.00	\$3,100.00
		Furnish and install storm						
		sewer lateral inlet;						
	2408	complete as specified	Each	29.00	\$1,620.00	\$46,980.00	\$1,200.00	\$34,800.00
		Storm lateral inlet						
		adjustments; complete as						
	2414	specified	Each	10.00	\$128.00	\$1,280.00	\$100.00	\$1,000.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	35.00	\$100.00	\$3,500.00	\$100.00	\$3,500.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	35.00	\$10.00	\$350.00	\$10.00	\$350.00
		Furnish; install; maintain;						
		and remove stone						
		tracking pad; complete as						
	2512	specified	Each	1.00	\$500.00	\$500.00	\$0.01	\$0.01
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	50.00	\$10.00	\$500.00	\$10.00	\$500.00
		Furnish; install; maintain;						
		and remove 12" diameter						
	2510	sediment logs; complete	Lines F. 1	00.00	#10.00	#000.00	#10 00	#000 00
	2518	as specified Furnish; install; maintain;	Linear Feet	80.00	\$10.00	\$800.00	\$10.00	\$800.00
		and remove dewatering						
		0						
	0504	tank system; complete as specified	Eash	2.00	¢2 000 00	¢< 000 00	¢0.01	¢0.00
	2524	Furnish; install; maintain;	Each	2.00	\$3,000.00	\$6,000.00	\$0.01	\$0.02
		and remove turbidity						
		barrier; complete as						
	2526	specified	Each	1.00	\$5,500.00	\$5,500.00	\$3,000.00	\$3,000.00
	2020	specifieu	EaCH	1.00	\$5,500.00	\$ <b>5,500.00</b>	\$5,000.00	\$3,000.00

Contract 25-05 - Waugoo Av	enue Reconstruc	tion (#9504879)		Г				
Owner: Oshkosh WI, City o				+ +				
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli (11, City	01							
Bid Opening: 02/17/2025 11:	00 AM CST							
bid Opening. 02/17/2025 11.	00 AW C31			+ +				
					Dorne	ne Inc	Carl Bowers & So	na Canat Ca. Inc.
					Donie	er me.	Call Dowers & 30	lis Colist. Co., Inc.
				+ +				
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install Class		2				
		I; Urban; Type A erosion						
		control mat; complete as						
	2632	specified	Square Yards	150.00	\$2.00	\$300.00	\$3.50	\$525.00
	2002	Furnish and install heavy	Square Tarus	150.00	φ2.00	\$500.00	φ5.50	\$525.00
		rip-rap with filter fabric;						
	2650	complete as specified	Square Yards	50.00	\$70.00	\$3,500.00	\$75.00	\$3,750.00
	2000	Abandon 8" - 12" storm	Square raids	50.00	\$70.00	\$3,300.00	\$75.00	φ3,730.00
		sewer; complete as						
	2800	-	Linear Feet	65.00	¢15.00	\$075 00	¢15.00	¢075.00
	2800	specified Abandon 15" and larger	Linear Feet	65.00	\$15.00	\$975.00	\$15.00	\$975.00
		0						
	2002	storm sewer; complete as		000.00	<b>100</b> 00	<b>***</b>	<b>**</b> *	#10 (00 0)
	2802	specified	Linear Feet	980.00	\$33.00	\$32,340.00	\$20.00	\$19,600.00
		Remove 30" and smaller						
		storm sewer; complete as						
	2804	specified	Linear Feet	150.00	\$48.00	\$7,200.00	\$25.00	\$3,750.00
		Remove 33" - 60" storm						
		sewer; complete as						
	2806	specified	Linear Feet	30.00	\$83.00	\$2,490.00	\$50.00	\$1,500.00
		Abandon storm sewer						
		manholes and inlets;						
	2810	complete as specified	Each	4.00	\$429.00	\$1,716.00	\$400.00	\$1,600.00
		Remove storm sewer						
		manholes and inlets;						
	2812	complete as specified	Each	7.00	\$592.00	\$4,144.00	\$500.00	\$3,500.00
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	4.00	\$1,797.00	\$7,188.00	\$1,200.00	\$4,800.00
		Connect to existing storm						
		sewer lateral; complete as						
	2852	specified	Each	3.00	\$446.00	\$1,338.00	\$200.00	\$600.00
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	1.00	\$1,434.00	\$1,434.00	\$750.00	\$750.00
		Connect to existing storm						
		sewer inlet; complete as						
	2858	specified	Each	1.00	\$1,244.00	\$1,244.00	\$750.00	\$750.00
		Storm sewer utility line			. ,	. ,		4.4.4.4
		opening (ULO); complete						
	2914	as specified	Each	5.00	\$1,536.00	\$7,680.00	\$600.00	\$3,000.00

Contract 25-05 - Waugoo Ave	enue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City of				1 1				
Solicitor: Oshkosh WI, City								
Solicitor: Oslikosli (11, City	01							
Bid Opening: 02/17/2025 11:	00 AM CST							
Biu Opening: 02/17/2025 11:	00 AW C31							
					Dorne		Carl Bowers & So	na Canat Ca. Ina
					Dome	er inc.	Carl bowers & 50	ns Const. Co., Inc.
	-							
Section Title	Item Code	Item Description	UofM	Orrentitu	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Item Description	UOINI	Quantity	Unit Frice	Extension	Unit Frice	Extension
		Excavation special						
	2050	(storm); complete as	T	150.00	<b>#22</b> 00	#2 200 00	#20.00	# 4 <b>5</b> 00 00
	2950	specified Bentonite slurry dam	Tons	150.00	\$22.00	\$3,300.00	\$30.00	\$4,500.00
		-						
	2052	(storm); complete as			A (25 00)	\$1.0 <b>5</b> 1.00	¢1,000,00	<b>**</b> 000 0
	2952	specified Furnish and install 8"	Each	2.00	\$627.00	\$1,254.00	\$1,000.00	\$2,000.0
	2000	sanitary sewer (relay);	Lines F. 1	005 00	#101.00	#101 00F 00	#100.00	#100 000 0
	3000	complete as specified Furnish and install 12"	Linear Feet	835.00	\$121.00	\$101,035.00	\$120.00	\$100,200.00
	2004	sanitary sewer (relay);		270.00	#114.00	<b>#20 500 00</b>	¢1.40.00	40 <b>5</b> 000 0
	3004	complete as specified	Linear Feet	270.00	\$114.00	\$30,780.00	\$140.00	\$37,800.00
		Furnish and install						
		standard sanitary sewer						
	2100	manhole (4' diameter);		16.00	#0 <b>22</b> 00	#20.2 <b>72</b> .00	\$C00.00	<b>*2-</b> (00.0)
	3100	complete as specified Furnish and install	Vertical Feet	46.00	\$832.00	\$38,272.00	\$600.00	\$27,600.00
		sanitary sewer external						
	0114	manhole chimney seal;	<b>F</b> 1	6.00	#F(F 00	#2 40 <b>2</b> 00	£450.00	# <b>2 7</b> 00 0
	3114	complete as specified Furnish and install	Each	6.00	\$567.00	\$3,402.00	\$450.00	\$2,700.00
		sanitary sewer external						
		manhole chimney seal						
	2114	extension; complete as		1.00	<b>*</b> 4 < 4 > 2	<i><b>†</b></i> <b>( ( ) ( )</b>	<b>* 10</b> - 00	<b>* 10</b> = 0
	3116	specified Furnish and install 8" x 6"	Each	1.00	\$464.00	\$464.00	\$425.00	\$425.0
		sanitary sewer factory						
	2210	wyes or tees; complete as	E . J	21.00	¢202.00	¢0,202,00	¢200.00	¢0.200.00
	3210	specified Furnish and install 12" x	Each	31.00	\$303.00	\$9,393.00	\$300.00	\$9,300.00
		6" sanitary sewer factory						
	2014	wyes or tees; complete as	E . J	0.00	#E86.00	¢4.699.00	¢550.00	¢4,400,0
	3214	specified Furnish and install 4"/6"	Each	8.00	\$586.00	\$4,688.00	\$550.00	\$4,400.00
		sanitary sewer lateral						
		,						
	2024	(relay); complete as	Linner Fred	1 400 00	#0.4.00	#117 COD 00	#10F 00	#1.4 <del>7</del> .000.04
	3234	specified Furnish and install 4"/6"	Linear Feet	1,400.00	\$84.00	\$117,600.00	\$105.00	\$147,000.0
		sanitary sewer riser						
		-						
	2025	(relay); complete as	Lines F. 1	50.00	#10F 00	#< 0=0 00	#110.00	#E E00 0
	3235	specified	Linear Feet	50.00	\$137.00	\$6,850.00	\$110.00	\$5,500.0

Contract 25-05 - Waugoo Av	enue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
,,								
Bid Opening: 02/17/2025 11	:00 AM CST							
514 opening, 02,11,2020 11								
					Dorner	r Inc	Carl Bowers & Sor	ns Const. Co. Inc
					Domen			is const. co., ne.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	76.00	\$31.00	\$2,356.00	\$25.00	\$1,900.0
		Furnish and install clay						
		dams; complete as						
	3238	specified	Each	38.00	\$128.00	\$4,864.00	\$100.00	\$3,800.0
		Furnish and install						
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	1.00	\$2,227.00	\$2,227.00	\$1,500.00	\$1,500.0
		Furnish and install						
		connection to existing 12"						
		sanitary sewer mains;						
	3304	complete as specified	Each	2.00	\$2,454.00	\$4,908.00	\$2,300.00	\$4,600.00
		Furnish and install						
		sanitary sewer concrete						
		collars; complete as						
	3330	specified	Each	2.00	\$625.00	\$1,250.00	\$1,000.00	\$2,000.0
		Furnish and install 10"						
		sanitary sewer open cut						
		casing pipes; complete as						
	3404	specified	Linear Feet	180.00	\$165.00	\$29,700.00	\$150.00	\$27,000.0
		Rock excavation;						
	3600	complete as specified	Cubic Yards	50.00	\$0.01	\$0.50	\$0.01	\$0.5
		Closed circuit televising;						
	3700	complete as specified	Linear Feet	1,105.00	\$1.00	\$1,105.00	\$2.00	\$2,210.00
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	4.00	\$257.00	\$1,028.00	\$400.00	\$1,600.0
		Abandon sanitary sewer						
		manholes; complete as						
	3800	specified	Each	2.00	\$497.00	\$994.00	\$800.00	\$1,600.0
		Abandon 10" sanitary						
		sewer; complete as						
	3804	specified	Linear Feet	695.00	\$4.10	\$2,849.50	\$23.00	\$15,985.00
		Abandon 12" sanitary			+	+=,- =, 100	+_5100	420,0010
		sewer; complete as						
	3806	specified	Linear Feet	190.00	\$4.10	\$779.00	\$27.00	\$5,130.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)		Γ				
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
Solicitol. Oslikosli WI, City	/ 01							
Bid Opening: 02/17/2025 11	M AM CST			ł				
bid Opening: 02/17/2025 11	1.00 AW C31							
					Dorner	Inc	Carl Bowers & Son	Const Co. Inc.
					Dorner	Inc.	Carl bowers & Son	s Const. Co., Inc.
Section Title	Item Code	Item Description	UofM	Orrentites	Unit Price	Extension	Unit Price	Extension
Section Title	Item Code	Item Description Remove sanitary sewer	UOIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
	0050	manholes; complete as	F 1	2.00	#C 17 00	#1.001.00	<b>#000.00</b>	¢1 (00 0)
	3852	specified Remove sanitary sewer;	Each	2.00	\$647.00	\$1,294.00	\$800.00	\$1,600.00
	2054	,		05.00	#c2.00	#E 005 00	#c0.00	#E 500.00
	3854	complete as specified Sanitary sewer utility line	Linear Feet	95.00	\$63.00	\$5,985.00	\$60.00	\$5,700.00
		5						
	2000	opening (ULO); complete	E . 1	2.00	#0.010.00	#1 ( <b>0</b> 1 00	#coo oo	#1 <b>0</b> 00 00
	3890	as specified	Each	2.00	\$2,312.00	\$4,624.00	\$600.00	\$1,200.00
		Excavation special						
	2002	(sanitary); complete as	T	44.00	# <b>22</b> .00	#0(0.00	<b>#20.00</b>	¢1 200 00
	3892	specified	Tons	44.00	\$22.00	\$968.00	\$30.00	\$1,320.00
		Bentonite slurry dam						
	2004	(sanitary); complete as		16.00	#1 100 00	<b>#10 000 00</b>	<b>#1</b> 000 00	¢1 < 000.00
	3894	specified Furnish and install 6"	Each	16.00	\$1,130.00	\$18,080.00	\$1,000.00	\$16,000.00
		ductile iron water main						
	1000	(relay) with polywrap;		(= 00	\$1 <b>2</b> 5.00	#0. <b>9</b> == 00	<b>610-</b> 00	to 055 00
	4002	complete as specified Furnish and install 8"	Linear Feet	65.00	\$127.00	\$8,255.00	\$127.00	\$8,255.00
		ductile iron water main						
		(relay) with polywrap;						
	4004	complete as specified	Linear Feet	1,355.00	\$135.00	\$182,925.00	\$134.00	\$181,570.00
		Furnish and install 1"						
		water service (relay);						
	4036	complete as specified	Linear Feet	1,350.00	\$80.00	\$108,000.00	\$97.00	\$130,950.00
		Furnish and install 1"						
	1010	corporation and stop box;		27.00	4=00.00	to1 700 00	<b>1</b> 700.00	<b>**</b>
	4048	complete as specified Furnish and install water	Each	37.00	\$589.00	\$21,793.00	\$700.00	\$25,900.00
	1055	service clay dams;		27.00	<b>*</b> 100.00	<b>*=</b> 000 00	#100 00	to 500 00
	4055	complete as specified Furnish and install	Each	37.00	\$190.00	\$7,030.00	\$100.00	\$3,700.00
		connections to existing 8"						
	10/0	water main; complete as	E . 1	2.00	#0.0F/ 00	#0 <b>00</b> 0 00	# <b>3</b> =00 00	
	4060	specified Furnish and install 8" x 6"	Each	3.00	\$3,076.00	\$9,228.00	\$2,500.00	\$7,500.00
		water main tee; complete				#2 005 00		*** ***
	4110	as specified	Each	3.00	\$945.00	\$2,835.00	\$750.00	\$2,250.00
		Furnish and install 8" x 8"						
		water main tee; complete			A4 0== 00	64 0 00		
	4111	as specified	Each	1.00	\$1,052.00	\$1,052.00	\$1,100.00	\$1,100.00

Contract 25-05 - Waugoo Ave	nue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City o								
Solicitol. Oslikosli Wi, City C								
Bid Opening: 02/17/2025 11:0	MAMCET			ł ł				
Bid Opening: 02/17/2023 11:0	JU AIVI CS1							
					Down	er Inc.	Carl Bowers & Sor	e Const Co. Inc.
					Dorne	er mc.	Carl bowers & Sol	is Const. Co., Inc.
Section Title	Item Code	Item Description	UofM	Orrentitu	Unit Price	Extension	Unit Price	Extension
Section Title	ftem Code	Item Description Furnish and install 8" 22-	UOIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		1/2 degree water main						
		0						
	4228	bend; complete as specified	E . J	1.00	\$617.00	\$617.00	\$550.00	\$550.00
	4228	Furnish and install 6" 45	Each	1.00	\$617.00	\$617.00	\$550.00	\$550.00
		degree water main bend;						
	1007	0	E . J	( 00	¢464.00	£2 794 00	¢450.00	¢2 700 00
	4236	complete as specified Furnish and install 8" 45	Each	6.00	\$464.00	\$2,784.00	\$450.00	\$2,700.00
	1007	degree water main bend;		6.00	#< <b>22</b> .00	#2 <b>722</b> 00	<b>#55</b> 0.00	<b>#2 2</b> 00 00
	4237	complete as specified Furnish and install 8"	Each	6.00	\$622.00	\$3,732.00	\$550.00	\$3,300.00
	1200	water main plug;	<b>F</b> 1	1.00	\$222.00	#222.00	¢250.00	#250.00
	4309	complete as specified	Each	1.00	\$333.00	\$333.00	\$350.00	\$350.00
		Cut and cap existing 4"						
	1070	water main; complete as		2.00	\$1.1.1= 00	<b>12 2</b> 00 00	A1 000 00	to (00.00
	4350	specified	Each	2.00	\$1,145.00	\$2,290.00	\$1,800.00	\$3,600.00
		Cut and cap existing 6"						
	1070	water main; complete as		2.00	<b>*1 201 00</b>		<b>to</b> 000 00	± 1 000 00
	4352	specified Cut and cap existing 8"	Each	2.00	\$1,394.00	\$2,788.00	\$2,000.00	\$4,000.00
	1051	water main; complete as		2.00	<b>11 50</b> ( 00)	to 170 00	<b>** *</b>	<b>*</b> 4 4 0 0 0 0 0
	4354	specified Furnish and install 6"	Each	2.00	\$1,726.00	\$3,452.00	\$2,200.00	\$4,400.00
		water main gate valve;		2.00	<b>12 21</b> 0 00	<b>*</b> < < <b>2</b> 2.20	<b>10</b> 100 00	<b>*</b> < <b>2</b> 00.00
	4401	complete as specified Furnish and install 8"	Each	3.00	\$2,210.00	\$6,630.00	\$2,100.00	\$6,300.00
	4402	water main gate valve;	E . J	8.00	¢2.070.00	#24 (24 00	¢ <b>2</b> ,000,00	# <b>33 3</b> 00 00
	4402	complete as specified Furnish and install	Each	8.00	\$3,078.00	\$24,624.00	\$2,900.00	\$23,200.00
	4500	hydrant; complete as		2.00	¢< <12.00	#10.00(.00	#< 000 00	#10.000.00
	4500	specified	Each	3.00	\$6,612.00	\$19,836.00	\$6,000.00	\$18,000.00
		Furnish and install 2"						
	47710	water main casing pipe;	Lines-Feel	100.00	#E2.00	#0 F 40 00	#a= 00	#C 300 00
	4712	complete as specified	Linear Feet	180.00	\$53.00	\$9,540.00	\$35.00	\$6,300.00
	4900	Rock excavation;	CubicVente	20.00	¢0.01	#0.00	¢0.01	#0 <b>00</b>
	4800	complete as specified Remove water main;	Cubic Yards	20.00	\$0.01	\$0.20	\$0.01	\$0.20
	4920		Lincer Feel	EE 00	¢=1.00	¢0.805.00	\$50.00	¢0 750 00
	4920	complete as specified Excavation special	Linear Feet	55.00	\$51.00	\$2,805.00	\$50.00	\$2,750.00
		-						
	4000	(water); complete as	Tone	25.00	¢ <b>22</b> .00	¢550.00	¢20.00	¢750.00
	4990	specified	Tons	25.00	\$22.00	\$550.00	\$30.00	\$750.00

Contract 25-05 - Waugoo Av	enue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City o								
Solicitor: Oshkosh WI, City								
eonation eonation (11) eng								
Bid Opening: 02/17/2025 11:	00 AM CST							
bia opening. 02/17/2020 11								
	-				Dorner	- Inc	Carl Bowers & So	e Const Co. Inc
					Donier	i iic.	Call bowers & Sol	is colist. co., lite.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Bentonite slurry dam						
		(water); complete as						
	4992	specified	Each	6.00	\$841.00	\$5,046.00	\$1,000.00	\$6,000.0
		Furnish and install pull						
		box (steel); 18" x 36";						
	5012	complete as specified	Each	10.00	\$1,030.00	\$10,300.00	\$1,050.00	\$10,500.0
		Adjust pull box; complete						
	5025	as specified	Each	10.00	\$108.00	\$1,080.00	\$110.25	\$1,102.50
		Remove concrete base;						
	5027	complete as specified	Each	1.00	\$206.00	\$206.00	\$210.00	\$210.0
		Furnish and install 3"						
		Schedule 40 PVC;						
	5130	complete as specified	Linear Feet	1,250.00	\$10.00	\$12,500.00	\$10.50	\$13,125.0
		Connect to existing pull						
		box; complete as						
	5180	specified	Each	1.00	\$258.00	\$258.00	\$262.50	\$262.50
		Furnish and install 6						
		gauge red-coated wire;						
	5240	complete as specified	Linear Feet	1,730.00	\$1.50	\$2,595.00	\$1.58	\$2,733.4
		Furnish and install 6						
		gauge black-coated wire;						
	5241	complete as specified	Linear Feet	1,730.00	\$1.50	\$2,595.00	\$1.58	\$2,733.40
		Furnish and install 10						
		gauge green-coated wire;						
	5262	complete as specified	Linear Feet	1,750.00	\$1.00	\$1,750.00	\$1.05	\$1,837.5
		Furnish and install 12		1				
		gauge red-coated wire;						
	5270	complete as specified	Linear Feet	200.00	\$0.80	\$160.00	\$0.85	\$170.00
		Furnish and install 12						
		gauge black-coated wire;						
	5271	complete as specified	Linear Feet	200.00	\$0.80	\$160.00	\$0.85	\$170.00
		Furnish and install 12						· · ·
		gauge green-coated wire;						
	5272	complete as specified	Linear Feet	200.00	\$0.80	\$160.00	\$0.85	\$170.00
		Furnish and install fuse						
		holder; complete as						
	5380	specified	Each	16.00	\$57.00	\$912.00	\$57.78	\$924.48
	5550	Furnish and install 2A	Lucii	10.00	ψ07.00	ψ, 12.00	ψ07.70	φ/21.10
		fuse; complete as						
	5386	specified	Each	16.00	\$5.00	\$80.00	\$5.25	\$84.00

Contract 25-05 - Waugoo Aver	ue Reconstruc	tion (#9504879)						
Owner: Oshkosh WI, City of								
Solicitor: Oshkosh WI, City of	f							
id Opening: 02/17/2025 11:00 AM CST								
			Dorner Inc.		er Inc.	Carl Bowers & So	ns Const. Co., Inc.	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Install CITY-supplied						
		pole and pole top						
		luminaire; complete as						
	5410	specified	Each	10.00	\$567.00	\$5,670.00	\$577.50	\$5,775.00
		Furnish and install Type 5						
		base; complete as						
	5504	specified	Each	8.00	\$1,107.00	\$8,856.00	\$1,128.75	\$9,030.00
Bid Total:						\$2,201,941.56		\$2,209,220.47

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)		1 T		
Owner: Oshkosh WI, City						
Solicitor: Oshkosh WI, City						
,,	,					
Bid Opening: 02/17/2025 11	1:00 AM CST					
					PTS Contr	actors. Inc
					115 Contr	actors, me
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1		1		~ ,		\$2,237,825.00
		Clearing; complete as				
	1011	specified	Inch Diameter	14.00	\$115.00	\$1,610.00
		Grubbing; complete as				. ,
	1021	specified	Inch Diameter	14.00	\$115.00	\$1,610.00
		Mobilization; complete as				. ,
	1050	specified	Lump Sum	1.00	\$225,824.41	\$225,824.41
		Removing pavement;	1		. ,	. ,
	1100	complete as specified	Square Yards	75.00	\$11.50	\$862.50
		Removing curb and	1			
		gutter; complete as				
	1110	specified	Linear Feet	2,200.00	\$2.00	\$4,400.00
		Removing concrete and				
		asphalt sidewalk and				
		driveway; complete as				
	1120	specified	Square Feet	17,000.00	\$1.10	\$18,700.00
		Unclassified excavation;	*			
	1200	complete as specified	Cubic Yards	2,050.00	\$21.70	\$44,485.00
		Excavation special				
		(paving); complete as				
	1220	specified	Tons	305.00	\$0.01	\$3.05
		Sediment storage area;				
	1225	complete as specified	Lump Sum	1.00	\$1.00	\$1.00
		Dredge material; load;				
		transport; and dispose of				
		dewatered sediment;				
	1226	complete as specified	Cubic Yards	200.00	\$1.00	\$200.00
		7" concrete pavement;				
		with 5" CABC and				
		grading; complete as				
	1301	specified	Square Yards	4,150.00	\$61.70	\$256,055.00
		7" concrete pavement				
		HES; with 5" CABC and				
		grading; complete as				
	1303	specified	Square Yards	265.00	\$65.95	\$17,476.75
		Concrete pavement gaps;				
	1334	complete as specified	Each	2.00	\$1.00	\$2.00
		Crushed aggregate base				
		course; complete as				
	1340	specified	Tons	530.00	\$10.60	\$5,618.00

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)		Г Г		
Owner: Oshkosh WI, City						
Solicitor: Oshkosh WI, Cit						
Solicitor. Oslikosli VII, Cit	y 01					
Bid Opening: 02/17/2025 1	1:00 AM CST					
					PTS Contra	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Pavement ties; complete				
	1350	as specified	Each	9.00	\$10.60	\$95.40
		Drilled dowel bars; 1";				
	1352	complete as specified	Each	26.00	\$15.35	\$399.10
		Drilled dowel bars; 1 1/4";				
	1354	complete as specified	Each	29.00	\$17.50	\$507.50
		Adjust manholes and				
		inlets; complete as				
	1360	specified	Each	35.00	\$397.00	\$13,895.00
		Turf restoration;				
	1370	complete as specified	Square Yards	2,700.00	\$8.50	\$22,950.00
	10,0	Restore gravel	oquare raras	2,, 00.00	\$0.00	<i>Q</i> <b></b> )/00100
		driveway/apron;				
	1272		Causana Vanda	15.00	\$16.00	¢240.00
	1372	complete as specified Cold weather covering	Square Yards	15.00	\$16.00	\$240.00
		0				
		(concrete pavement) -				
		single visquine; complete				
	1380	as specified	Square Yards	430.00	\$0.01	\$4.30
		Up-charge for late season				
		cold weather concrete				
		pavement; complete as				
	1390	specified	Cubic Yards	84.00	\$0.01	\$0.84
		12" radius curb with 6"				
		CABC and grading;				
	1410	complete as specified	Linear Feet	255.00	\$17.00	\$4,335.00
		30" curb and gutter; 7";				
		with 5" CABC and				
		grading; complete as				
	1440	specified	Linear Feet	35.00	\$59.30	\$2,075.50
	1440	Sidewalk curb; complete	Linear reet	35.00	\$39.30	φ2,070.00
	14/0		LincorFeet	(E 00	#Z0.00	#4 4 <b>0</b> 0 00
	1460	as specified 4" concrete sidewalk with	Linear Feet	65.00	\$68.00	\$4,420.00
		3" CABC and grading;				
	1500	complete as specified	Square Feet	9,000.00	\$8.20	\$73,800.00
		6" concrete sidewalk/				
		driveway/ramp with 3"				
		CABC and grading;				
	1510	complete as specified	Square Feet	6,900.00	\$8.50	\$58,650.00

Contract 25-05 - Waugoo Av	enue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City o						
Solicitor: Oshkosh WI, City						
oonenton oonnoon mij eng						
Bid Opening: 02/17/2025 11:	00 AM CST					
Bid Opening: 02/1//2023 11:	JUD AIVI CSI					
	_				<b>PTC C C</b>	
					PTS Contra	ctors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		6" concrete sidewalk/				
		driveway/ramp (HES)				
		with 3" CABC and				
		grading; complete as				
	1514	specified	Square Feet	2,000.00	\$8.85	\$17,700.00
	-	6" concrete step; complete	- 1	,		, ,
	1530	as specified	Square Feet	165.00	\$80.00	\$13,200.00
	1000	Curb ramp detectable	oquarereet	100.00	400100	\$10,200.00
		warning field				
		(natural/non-painted);				
	1540		Causana East	80.00	\$43.00	\$3,440.00
	1540	complete as specified No. 4 reinforcing rods -	Square Feet	80.00	\$43.00	\$3,440.00
		0				
		deformed; epoxy-coated;				
	1550	complete as specified	Linear Feet	3,150.00	\$2.10	\$6,615.00
		Drilled No. 4 sidewalk tie				
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	215.00	\$8.50	\$1,827.50
		Cold weather covering				
		(sidewalk) - single				
		visquine; complete as				
	1580	specified	Square Feet	1,770.00	\$0.01	\$17.70
		Cold weather covering	•			
		(sidewalk) - double				
		visquine; complete as				
	1582	specified	Square Feet	1,770.00	\$0.01	\$17.70
	1002	Up-charge for late season	oquare rece	1,1,1,0,000	\$0.01	¢17.0 0
		cold weather concrete				
		sidewalk; complete as				
	1500	-	Cubic Yards	28.00	¢15.00	¢ 4 <b>2</b> 0.00
	1590	specified Furnish and install tree;	Cubic rarus	28.00	\$15.00	\$420.00
	1.000		F 1	1.00	#F05.00	#=0= 00
	1600	complete as specified	Each	1.00	\$585.00	\$585.00
		Locate existing property				
		monuments; complete as				
	1650	specified	Each	26.00	\$160.00	\$4,160.00
		Replace existing property				
		monuments; complete as				
	1652	specified	Each	26.00	\$11.00	\$286.00
		Sawing existing				
		pavement; complete as				
	1700	specified	Linear Feet	530.00	\$5.00	\$2,650.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City	of					
Solicitor: Oshkosh WI, City	y of			1		
	<u> </u>					
Bid Opening: 02/17/2025 11	1:00 AM CST					
1 0						
					PTS Contr	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Sawing concrete				
		pavement full depth;				
	1710	complete as specified	Linear Feet	105.00	\$5.00	\$525.00
		Base aggregate dense;				
		3/4"; complete as				
	1800	specified	Tons	10.00	\$85.00	\$850.00
		Base aggregate dense; 1-				
		1/4"; complete as				
	1801	specified	Tons	160.00	\$17.50	\$2,800.00
		Base aggregate dense; 3";			-	. ,
	1802	complete as specified	Tons	260.00	\$17.50	\$4,550.00
		Tack coat; complete as				, ,
	1900	specified	Gallons	60.00	\$5.50	\$330.00
	1500	HMA Pavement LT;	Guilono	00.00	\$0.00	4000100
	1901	complete as specified	Tons	180.00	\$163.00	\$29,340.00
	1501	HMA cold weather	10110	100100	\$100,000	¢2)/01000
		paving up-charge;				
	1903	complete as specified	Tons	18.00	\$4.00	\$72.00
	1705	4" asphaltic surface LT	10115	10.00	\$4.00	φ/ 2.00
		with 6" CABC and				
		grading; complete as				
	1916	specified	Causano Vando	30.00	\$81.00	\$2,430.00
	1916	2" asphaltic surface LT	Square Yards	30.00	\$81.00	\$2,430.00
		with 6" CABC and				
		grading; complete as				
	1917	specified	Square Yards	50.00	\$52.00	\$2,600.00
		Asphaltic cold weather				
		paving up-charge;				
	1918	complete as specified	Square Yards	8.00	\$1.00	\$8.00
		Furnish and install 12"				
		storm sewer; complete as				
	2003	specified	Linear Feet	220.00	\$81.00	\$17,820.00
		Furnish and install 15"				
		storm sewer; complete as				
	2006	specified	Linear Feet	105.00	\$68.00	\$7,140.00
		Furnish and install 36"		ι Τ		
		storm sewer; complete as				
	2024	specified	Linear Feet	720.00	\$155.00	\$111,600.00

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City	of					
Solicitor: Oshkosh WI, Cit						
· · ·						
3id Opening: 02/17/2025 1	1:00 AM CST					
					PTS Contrac	tors Inc
					110 contrac	1013, IIIC
Section Title	Item Code	Item Description	UofM	Ouentitu	Unit Price	Extension
Section Title	Item Code	Item Description Furnish and install 29" x	UOIIVI	Quantity	Unit Frice	Extension
		45" HERCP Class V storm				
	2052	sewer; complete as	Liner Erst	270.00	#225.00	¢(2,450.0
	2052	specified Furnish and install 34" x	Linear Feet	270.00	\$235.00	\$63,450.0
		53" HERCP Class III				
	2053	storm sewer; complete as	Liner Fred	1(0.00	#205.00	¢ 47 200 (
	2055	specified Furnish and install 34" x	Linear Feet	160.00	\$295.00	\$47,200.0
		53" RCP Class III apron				
		endwall with joint ties;				
	2158	complete as specified	Each	1.00	\$17,240.00	\$17,240.0
	2136	Supply outfall end	Eddli	1.00	\$17,240.00	\$17,240.0
		section steel plate;				
	2190	complete as specified	Each	1.00	\$3,185.00	\$3,185.0
	2150	Furnish and install	Each	1.00	\$5,105.00	φ3,105.0
		standard storm sewer				
		manhole (4' diameter);				
	2201	complete as specified	Vertical Feet	6.50	\$746.00	\$4,849.0
	2201	Furnish and install	Verticul Feet	0.00	¢7 10.00	φ1,017.0
		standard storm sewer				
		manhole (5' diameter);				
	2202	complete as specified	Vertical Feet	22.00	\$780.00	\$17,160.0
	2202	Furnish and install	vertical rect	22.00	\$7.00100	<i>Q17</i> ,100.0
		standard storm sewer				
		manhole (6' diameter);				
	2203	complete as specified	Vertical Feet	9.00	\$1,230.00	\$11,070.0
		Furnish and install			, ,	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		standard storm sewer				
		manhole (8' diameter);				
	2205	complete as specified	Vertical Feet	14.00	\$2,075.00	\$29,050.0
		Furnish and install Type 1				. ,
		inlet (with 18" sump);				
	2235	complete as specified	Each	1.00	\$3,235.00	\$3,235.0
		Furnish and install Type 3				,
		inlet (with 18" sump);				
	2237	complete as specified	Each	12.00	\$2,750.00	\$33,000.0
		Furnish and install 6"		1		
		storm sewer lateral;				
	2400	complete as specified	Linear Feet	1,000.00	\$65.00	\$65,000.0

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City						
Solicitor: Oshkosh WI, Cit						
Solicitor: Oshitosh VII, Cit	y 01					
Bid Opening: 02/17/2025 1	1:00 AM CST					
Did Opening. 02/17/2023 1	1.00 AM C31			+ +		
					PTS Contr	actors Inc
					115 Collu	actors, me
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install storm		2		
		sewer marker balls;				
	2404	complete as specified	Each	62.00	\$43.00	\$2,666.00
	2101	Furnish and install storm	Buen	02.00	φ10.00	ψ2,000.00
		sewer clay dams;				
	2406	complete as specified	Each	31.00	\$87.00	\$2,697.00
	2400	Furnish and install storm	Lacit	51.00	φ07.00	φ2,077.00
		sewer lateral inlet;				
	2408	complete as specified	Each	29.00	\$950.00	\$27,550.00
	2400	Storm lateral inlet	Lacii	27.00	\$250.00	φ27,550.00
		adjustments; complete as				
	2414	specified	Each	10.00	\$1.00	\$10.00
	2414	Furnish; install; maintain;	Each	10.00	\$1.00	\$10.00
		and remove Type D				
		modified inlet protection;				
	2508	complete as specified	Each	35.00	\$85.00	\$2,975.00
	2308	Sediment removal - Type	Eden	35.00	\$65.00	\$2,975.00
		D modified inlet				
		protection; complete as				
	2510	specified	Each	35.00	\$1.00	\$35.00
	2310	Furnish; install; maintain;	Each	35.00	\$1.00	\$55.00
		and remove stone				
	2512	tracking pad; complete as	Each	1.00	\$1.00	¢1.00
	2512	specified Furnish; install; maintain;	Each	1.00	\$1.00	\$1.00
	2517	and remove stone bag;	E. J.	50.00	¢11.00	¢550.00
	2516	complete as specified Furnish; install; maintain;	Each	50.00	\$11.00	\$550.00
		and remove 12" diameter				
	2510	sediment logs; complete		22.00	# <b>7</b> .50	#<00.00
	2518	as specified	Linear Feet	80.00	\$7.50	\$600.00
		Furnish; install; maintain;				
		and remove dewatering				
	272.4	tank system; complete as	F .	2.00		** **
	2524	specified	Each	2.00	\$1.00	\$2.00
		Furnish; install; maintain;				
		and remove turbidity				
	272 (	barrier; complete as			A= 000 00	
	2526	specified	Each	1.00	\$5,080.00	\$5,080.00

Contract 25-05 - Waugoo Ave	nue Reconstruc	tion (#9504879)		Г Т		
Owner: Oshkosh WI, City of				1		
Solicitor: Oshkosh WI, City o						
Solicitol. Oslikosli VII, City (	<u>,,,</u>					
Rid Onening: 02/17/2025 11:0	MAMCET					
Bid Opening: 02/17/2025 11:0	I AM CSI					
					PTS Contr	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install Class				
		I; Urban; Type A erosion				
		control mat; complete as				
	2632	specified	Square Yards	150.00	\$1.60	\$240.00
		Furnish and install heavy				
		rip-rap with filter fabric;				
	2650	complete as specified	Square Yards	50.00	\$86.00	\$4,300.00
		Abandon 8" - 12" storm				
		sewer; complete as				
	2800	specified	Linear Feet	65.00	\$11.00	\$715.00
		Abandon 15" and larger				
		storm sewer; complete as				
	2802	specified	Linear Feet	980.00	\$16.00	\$15,680.00
		Remove 30" and smaller				. ,
		storm sewer; complete as				
	2804	specified	Linear Feet	150.00	\$26.00	\$3,900.00
		Remove 33" - 60" storm			+	44)/ 00000
		sewer; complete as				
	2806	specified	Linear Feet	30.00	\$42.00	\$1,260.00
	2000	Abandon storm sewer	Enicurrect	00.00	φ12.00	ψ1,200.00
		manholes and inlets;				
	2810	complete as specified	Each	4.00	\$231.00	\$924.00
	2010	Remove storm sewer	Lacit	4.00	\$231.00	\$724.00
		manholes and inlets;				
	2812		Eash	7.00	¢221.00	¢1 (17 00
	2012	complete as specified	Each	7.00	\$231.00	\$1,617.00
		Connect to existing storm				
	2050	sewer main; complete as		1.00	<b>*1 * 1</b> * 1 * 1 * 1	<b>* * * * *</b>
	2850	specified	Each	4.00	\$1,240.00	\$4,960.00
		Connect to existing storm				
		sewer lateral; complete as				
	2852	specified	Each	3.00	\$210.00	\$630.00
		Connect to existing storm				
		sewer manhole; complete				
	2856	as specified	Each	1.00	\$390.00	\$390.00
		Connect to existing storm				
		sewer inlet; complete as				
	2858	specified	Each	1.00	\$390.00	\$390.00
		Storm sewer utility line				
		opening (ULO); complete				
	2914	as specified	Each	5.00	\$1.00	\$5.00

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City	of					
Solicitor: Oshkosh WI, Cit						
,						
Bid Opening: 02/17/2025 1	1:00 AM CST					
				1 1	PTS Contra	ctors. Inc
						,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
	item coue	Excavation special	com	Quantity	Unit The	Extension
		(storm); complete as				
	2950	specified	Tons	150.00	\$1.00	\$150.0
	2950	Bentonite slurry dam	10115	150.00	\$1.00	\$150.00
		(storm); complete as				
	2952	specified	Each	2.00	\$265.00	\$530.0
	2932	Furnish and install 8"	Eden	2.00	\$203.00	\$550.0
		sanitary sewer (relay);				
	3000		Liner Fred	825.00	¢110.00	¢02 520 0
	3000	complete as specified Furnish and install 12"	Linear Feet	835.00	\$112.00	\$93,520.00
		sanitary sewer (relay);				
	2004		Liner Fred	270.00	¢122.00	¢25 (40.0
	3004	complete as specified Furnish and install	Linear Feet	270.00	\$132.00	\$35,640.0
		standard sanitary sewer				
		manhole (4' diameter);				
	3100	complete as specified Furnish and install	Vertical Feet	46.00	\$570.00	\$26,220.00
		sanitary sewer external				
		manhole chimney seal;				
	3114	complete as specified	Each	6.00	\$685.00	\$4,110.0
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal				
		extension; complete as				
	3116	specified	Each	1.00	\$585.00	\$585.0
		Furnish and install 8" x 6"				
		sanitary sewer factory				
		wyes or tees; complete as				
	3210	specified	Each	31.00	\$190.00	\$5,890.0
		Furnish and install 12" x				
		6" sanitary sewer factory				
		wyes or tees; complete as				
	3214	specified	Each	8.00	\$433.00	\$3,464.0
		Furnish and install 4"/6"				
		sanitary sewer lateral				
		(relay); complete as				
	3234	specified	Linear Feet	1,400.00	\$120.00	\$168,000.0
		Furnish and install 4"/6"		1		
		sanitary sewer riser				
		(relay); complete as				
	3235	specified	Linear Feet	50.00	\$115.00	\$5,750.00

Contract 25-05 - Waugoo Av	venue Reconstruc	tion (#9504879)		Г		
Owner: Oshkosh WI, City o						
Solicitor: Oshkosh WI, City				1		
, - · , - · ,						
Bid Opening: 02/17/2025 11	·00 AM CST					
bia Opennig. 02/17/2025 11						
					PTS Contr	actors Inc
					115 Collu	actors, file
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section The	item Coue	Furnish and install	CONVI	Quantity	Ollit I lice	Extension
		sanitary sewer lateral				
	2027	marker balls; complete as		= ( 00	<b>* 12</b> 00	<b>**</b> • • • • •
	3236	specified	Each	76.00	\$43.00	\$3,268.00
		Furnish and install clay				
		dams; complete as				
	3238	specified	Each	38.00	\$85.00	\$3,230.00
		Furnish and install				
		connection to existing 8"				
		sanitary sewer mains;				
	3300	complete as specified	Each	1.00	\$1,210.00	\$1,210.00
		Furnish and install				
		connection to existing 12"				
		sanitary sewer mains;				
	3304	complete as specified	Each	2.00	\$2,555.00	\$5,110.00
		Furnish and install			. ,	. ,
		sanitary sewer concrete				
		collars; complete as				
	3330	specified	Each	2.00	\$1.00	\$2.00
		Furnish and install 10"			+	42.00
		sanitary sewer open cut				
		casing pipes; complete as				
	3404	specified	Linear Feet	180.00	\$105.00	\$18,900.00
	5404	Rock excavation;	Linear Peet	100.00	\$105.00	\$18,900.00
	3600		Cubic Yards	50.00	\$1.00	\$50.00
	3600	complete as specified	Cubic Tarus	50.00	\$1.00	\$50.00
	2700	Closed circuit televising;		1 105 00	#D (5	#0.000.0F
	3700	complete as specified	Linear Feet	1,105.00	\$2.65	\$2,928.25
		Closed circuit televising -				
		using push camera;				
	3710	complete as specified	Each	4.00	\$580.00	\$2,320.00
	1	Abandon sanitary sewer				
	1	manholes; complete as				
	3800	specified	Each	2.00	\$540.00	\$1,080.00
		Abandon 10" sanitary				
	1	sewer; complete as				
	3804	specified	Linear Feet	695.00	\$14.00	\$9,730.00
		Abandon 12" sanitary				
	1	sewer; complete as				
	3806	specified	Linear Feet	190.00	\$26.00	\$4,940.00

Contract 25-05 - Waugoo Ave	nue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	f					
	-					
Bid Opening: 02/17/2025 11:0	AM CST					
blu Opening. 02/17/2025 11.0						
					PTS Contra	store Inc
					1 15 Collula	ctors, me
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
	item coue	Remove sanitary sewer	Conn	Quantity	Chief Frite	Extension
		manholes; complete as				
	3852	specified	Each	2.00	\$580.00	\$1,160.00
	3652	Remove sanitary sewer;	Each	2.00	\$560.00	\$1,100.00
	3854	complete as specified	Linear Feet	95.00	\$43.00	\$4,085.00
	5054	Sanitary sewer utility line	Linear reet	95.00	\$ <del>4</del> 5.00	φ <del>4</del> ,000.00
		opening (ULO); complete				
	3890	as specified	Each	2.00	\$1.00	\$2.00
	3690	Excavation special	Each	2.00	\$1.00	\$2.00
		-				
	2802	(sanitary); complete as	Terre	11.00	¢1.00	¢44.00
	3892	specified Bontonito alumni dam	Tons	44.00	\$1.00	\$44.00
		Bentonite slurry dam				
	2004	(sanitary); complete as		16.00	<b>\$1</b> .00	
	3894	specified Furnish and install 6"	Each	16.00	\$1.00	\$16.00
		ductile iron water main				
		(relay) with polywrap;				
	4002	complete as specified	Linear Feet	65.00	\$106.00	\$6,890.00
		Furnish and install 8"				
		ductile iron water main				
		(relay) with polywrap;				
	4004	complete as specified	Linear Feet	1,355.00	\$132.00	\$178,860.00
		Furnish and install 1"				
		water service (relay);				
	4036	complete as specified	Linear Feet	1,350.00	\$106.00	\$143,100.00
		Furnish and install 1"				
		corporation and stop box;				
	4048	complete as specified	Each	37.00	\$535.00	\$19,795.00
		Furnish and install water				
		service clay dams;				
	4055	complete as specified	Each	37.00	\$86.00	\$3,182.00
		Furnish and install				
		connections to existing 8"				
		water main; complete as				
	4060	specified	Each	3.00	\$2,315.00	\$6,945.00
		Furnish and install 8" x 6"				
		water main tee; complete				
	4110	as specified	Each	3.00	\$758.00	\$2,274.00
	1	Furnish and install 8" x 8"		1		
		water main tee; complete				
	4111	as specified	Each	1.00	\$860.00	\$860.00

Contract 25-05 - Waugoo A	venue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City						
Solicitor: Oshkosh WI, City						
Solicitol. Oslikosli VI, City	y 01					
Bid Opening: 02/17/2025 11	1:00 AM CST					
					PTS Contra	ectors. Inc
					110 00000	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1itle	Item Coue	Furnish and install 8" 22-	Convi	Quantity	ChitThee	Extension
		1/2 degree water main				
		0				
	1000	bend; complete as	F 1	1.00	#1(0.00	¢4(0.00
	4228	specified	Each	1.00	\$460.00	\$460.00
		Furnish and install 6" 45				
		degree water main bend;				
	4236	complete as specified	Each	6.00	\$355.00	\$2,130.00
		Furnish and install 8" 45				
		degree water main bend;				
	4237	complete as specified	Each	6.00	\$465.00	\$2,790.00
		Furnish and install 8"				
		water main plug;				
	4309	complete as specified	Each	1.00	\$230.00	\$230.00
		Cut and cap existing 4"				
		water main; complete as				
	4350	specified	Each	2.00	\$980.00	\$1,960.00
		Cut and cap existing 6"				
		water main; complete as				
	4352	specified	Each	2.00	\$1,325.00	\$2,650.00
		Cut and cap existing 8"			. ,	. ,
		water main; complete as				
	4354	specified	Each	2.00	\$1,405.00	\$2,810.00
	1001	Furnish and install 6"	Lucii	2.00	\$1,100,000	\$ <b>_</b> }010100
		water main gate valve;				
	4401	complete as specified	Each	3.00	\$2,000.00	\$6,000.00
	1101	Furnish and install 8"	Lacit	5.00	\$2,000.00	\$0,000.00
		water main gate valve;				
	4402	complete as specified	Each	8.00	\$2,780.00	\$22,240.00
	4402	Furnish and install	Edul	8.00	\$2,780.00	\$22,240.00
	4500	hydrant; complete as	F 1	2.00	#E 005 00	¢15 555 00
	4500	specified Furnish and install 2"	Each	3.00	\$5,925.00	\$17,775.00
	1710	water main casing pipe;	<b>T T T</b>	100.00	****	** ***
	4712	complete as specified	Linear Feet	180.00	\$22.00	\$3,960.00
		Rock excavation;				
	4800	complete as specified	Cubic Yards	20.00	\$1.00	\$20.00
		Remove water main;	<b>.</b> . –			
	4920	complete as specified	Linear Feet	55.00	\$35.00	\$1,925.00
		Excavation special				
		(water); complete as				
	4990	specified	Tons	25.00	\$1.00	\$25.00

Contract 25-05 - Waugoo Aver	nue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City o	f					
Solicitol: Oslikosli (11, city o	1					
Bid Opening: 02/17/2025 11:00	AMCST					
Bid Opening: 02/17/2025 11:0	J AM C31					
						. <b>.</b>
					PTS Contra	actors, Inc
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Bentonite slurry dam				
		(water); complete as				
	4992	specified	Each	6.00	\$1.00	\$6.00
		Furnish and install pull				
		box (steel); 18" x 36";				
	5012	complete as specified	Each	10.00	\$1,055.00	\$10,550.00
		Adjust pull box; complete				
	5025	as specified	Each	10.00	\$1.00	\$10.00
		Remove concrete base;				
	5027	complete as specified	Each	1.00	\$215.00	\$215.00
		Furnish and install 3"				
		Schedule 40 PVC;				
	5130	complete as specified	Linear Feet	1,250.00	\$10.60	\$13,250.00
		Connect to existing pull		,		. ,
		box; complete as				
	5180	specified	Each	1.00	\$265.00	\$265.00
	0100	Furnish and install 6	Duch	1.00	\$200100	\$200.00
		gauge red-coated wire;				
	5240	complete as specified	Linear Feet	1,730.00	\$1.60	\$2,768.00
	0210	Furnish and install 6	Enteur reet	1,7 50.00	ψ1.00	φ2,7 00.00
		gauge black-coated wire;				
	5241	complete as specified	Linear Feet	1,730.00	\$1.60	\$2,768.00
	5241	Furnish and install 10	Linear reet	1,730.00	\$1.00	\$2,700.00
	52(2	gauge green-coated wire;	I. Same Trans	1 750 00	¢1.05	¢1 007 F0
	5262	complete as specified Furnish and install 12	Linear Feet	1,750.00	\$1.05	\$1,837.50
		gauge red-coated wire;			++	
	5270	complete as specified	Linear Feet	200.00	\$0.85	\$170.00
		Furnish and install 12				
		gauge black-coated wire;				
	5271	complete as specified	Linear Feet	200.00	\$0.85	\$170.00
		Furnish and install 12				
		gauge green-coated wire;				
	5272	complete as specified	Linear Feet	200.00	\$0.85	\$170.00
		Furnish and install fuse				
	1	holder; complete as				
	5380	specified	Each	16.00	\$59.00	\$944.00
		Furnish and install 2A				
		fuse; complete as				
	5386	specified	Each	16.00	\$6.00	\$96.00

Contract 25-05 - Waugoo Aven	ue Reconstruc	tion (#9504879)				
Owner: Oshkosh WI, City of						
Solicitor: Oshkosh WI, City of						
Bid Opening: 02/17/2025 11:00	AM CST					
					PTS Contractors, Inc	
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Install CITY-supplied				
		pole and pole top				
		luminaire; complete as				
	5410	specified	Each	10.00	\$585.00	\$5,850.00
		Furnish and install Type 5				
		base; complete as				
	5504	specified	Each	8.00	\$1,140.00	\$9,120.00
Bid Total:						\$2,237,825.00